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Discuss the advantage and disadvantage of living in the modern world.

A person born in the late twentieth century has been a lot of changes taken place in almost all
areas of human life. Some people are excited by the challenges that these changes offer;
others want to return to the simpler, less automated lifestyle of the past. Living in the modern
world has certain advantages such as a higher standard of living, but it also has some
disadvantages such as a polluted environment, the depersonalization of human relationships,
and the weakening of spiritual values.
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Every country has poor people and every country has different ways o dealing with the poor.
What are some of the reasons for world poverty? What can be done to help the poor?

Every country, no matter how rich, has groups of people who live under the poverty line. They
live in miserable conditions without adequate goods such as food or shelter, or without such
services as health or education. This essay will examine some of the main causes of poverty
and suggest some possible solutions.
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If countries are serious about solving traffic problems, they should tax private cars very heavily
and use the money to provide free or very cheap rail travel.



To what extant do you agree with the above?
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Many nations are facing massive traffic congestions in their cities. This both makes travel
difficult an causes environmental damage. In order to solve this problem, it is necessary to
establish alternative transport systems such as railways. In my opinion, the best way to finance
the development of public transport is to tax car drivers.

PAPURA

Motor cars were invented at the end of the last century and have developed greatly over the
last 100 years. In many countries, families have two cars and sometimes even three. As there
are so many cars on the road, there are often traffic jams on major roads. It can take hours to
complete a short journey at peak times in some major cities. Many attempts have been made
to solve the problems of bad traffic. These include limiting the times cars are allowed to drive
in certain areas and making cars carry a certain number of passengers. These schemes have
met with varying degrees of success.

CJPURVA

Many people say that if countries are serious about solving traffic problems, they should tax
private cars very heavily and use the money to provide free rail travel.
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Describe the disadvantages of living in a big city.



Big cities are full charm and opportunities, so people from the country all rush to the urban
areas to take advantage of the opportunities for jobs and education, make good use of the
theaters cinemas an museums, and patronize all the ethnic restaurants in the cities. Although
cities seem like a paradise, it is not, for the cities have several serious problems: poor public
transport, congested streets, and expensive housing.

LR

A. The first and most important problem is the inadequate public transport system for the
urban dwellers.
1. Schedules are unreliable.
a. Late bus arrivals
b. Arrival in bunches
2. Passengers are victims.
a. Late to work, appointments, classes
b. Extra waiting time
B. The second serious problem is the extremely congested condition of the city streets.
1. Heavy downtown traffic
a. Cars and trucks within city
b. Commuter traffic from suburbs
c. Accidents
2. Traffic jams
C. The final problem is the lack of reasonable housing.
1. shortage of rentals
2. highrents

1§ S Azl
In conclusion, the traffic systems in big cities are in bad shape. Furthermore, the high cost of
housing and massive traffic jams are all negative aspects of the city life.



2 ko
In what ways should imports and exports be a adjusted to increase your country’s efficiency
and effectiveness in the world marketplace?
LR
First of all, a balance should be maintained between exports and imports. Vietnam is a
developing country and tries to import as many goods as possible to serve our society. But if
the quantity of imports is much greater than the quantity of exports, we have to go into debt
or depend heavily on other countries. In this case, our economy will be controlled, and
obviously it will not be able to run efficiently and effectively. On the other hand, if the quantity
of exports is greatly more than the quantity of imports, that means we do not efficiently use
what we earn from other countries to serve our society. In this sense, it wastes the earning.
Secondly, exportation should concentrate on the goods we have the greatest advantages to
produce. Considering our society’s real situation, labor-intensive products such as textiles,
handicrafts, and so on, should be given priority as exports. If we do not consider our
advantages, maybe our exported products will have no competitive values in the world
market, and of course, will prove superfluous.
Thirdly, concerning importation, it is necessary to import technology rather than consumer
goods. Today’s technology plays a major role in developing the economy. If we import
consumer goods, after consuming them we have to import again. But if we import technology,
we can apply it in our manufacture and produce the goods we need to meet the needs of the
people. In this way, our economy can be improved fast and efficiently.
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If countries are serious about solving traffic problems, they should tax private cars very heavily
and use the money to provide free or very cheap rail travel.

To what extent do you agree with the above?

Many nations are facing massive traffic congestion is their cities. This both makes travel
difficult and causes environmental damage. In order to solve this problem, it is necessary to
establish alternative transport systems such as railways. In my opinion, the best way to finance
the development of public transport is to tax car drivers.

The conclusion can weigh the pros and cons of the issue:
For Against

a. Encourage people to use public transport a. Not door-to-door service like cars



b. Reduce the number of cars on the road b. People like owning cars.
c. Cut down on traffic jams/pollution c. Increased taxes are always unpopular
d. Save fossil fuels d. Cheap railways would lose money and
e. More money to develop infrastructure need state subsidies.
I

Although taxing private cars would be an unpopular short-term measure, it would eventually
solve the problem of road congestion. Cheap railways and expensive cars are undoubtedly in
the public interest. However, it is unlikely that any government has the political will necessary
to bring in measures which would undoubtedly alienate influential groups within society.
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Discuss the advantages and disadvantages of living in the modern world.

A person born in the late twentieth century has seen a lot of changes taken place in almost all
areas of human like. Some people are excited by the challenges that these changes offer;
others want to return to the simpler, less automated lifestyle of the past. Living in the modern
world has certain advantages such as a higher standard of living, but it also has some
disadvantages such as a polluted environment, the depersonalization of human relationships,
and the weakening of spiritual values.

In conclusion, although the modern life has indeed given us a lot of advantages by making us
richer, healthier, and freer to enjoy our lives, it has, in my opinion, not made us wiser. The
modern world has also made our earth dirtier, our people less humane, and our spiritual lives
poorer. We should continue to enjoy the benefits of technological advancements because they
free us to pursue our interests and goals. However, we must make a joint effort to preserve
our natural environment for future generations. Moreover, we should take the time now to
make our lives more meaningful in an increasingly impersonal, mechanized world.
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One of the most important changes that management has made in industry in recent years is
the scheduling of flexible working hours for their employees. Workers are given the option of
choosing when they will work. This allows them more leisure time for family and fun. Flexitime
has obvious advantages for both workers and management although it may not be practical in
all types of businesses.

Transition signal word: The first advantage is increased production per working hour.
(+ supporting details)

Transition signal word: A second advantage is that factory workers are happier.
(+ supporting details)

Transition signal phrase: In addition to increased output and worker satisfaction, factory
Managers report that absenteeism has decline.
(+ supporting details)

Transition signal clause: Although flexitime has produces these three positive results in some
Industries, it is not as advantageous is all types of businesses.
(+ supporting details)

To summarize, flextime has resulted in increased production and happier workers who are less
likely to miss work, and it works well in manufacturing and retail industries. It works less well
in service industries such as the restaurant and health care industries.






